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 D ±ÜÅ£Áãí Ü̈á ±ÜÅÍæ°WÜÚWæ A¥ÜÊÝ A±Üä|ì ÖæàÚPæWÜÚWæ ®ÝÆáR BÁáRWÜÙÜ®Üá° ¯àvÜÇÝX æ̈. AÊÜâWÜÙÜÈÉ ÓÜÄ¿Þ Ü̈ 

EñÜ¤ÃÜÊÜ®Üá° BÄÔ ¯ÊÜáWæ ¯àvÜÇÝXÃÜáÊÜ  K.Gí.BÃ…. ( OMR ) EñÜ¤ÃÜ ±Ü£ÅPæ¿áÈÉ ¯àÈ A¥ÜÊÝ PÜ±Üâ³ 

ÍÝÀá¿á ¸ÝÇ… ±ÝÀáíp… ±æ®…¯í Ü̈ ÓÜÄ¿Þ Ü̈ BÁáR¿á®Üá° Íæàv… ÊÜÞw : 40 × 1 = 40 

 Four choices are given for each of the following questions / incomplete statements. 

Choose the correct answer among them and shade the correct option in the OMR 

Answer Sheet given to you with a black / blue ball point pen. 40 × 1 = 40 

1. Jí¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿á n®æà ±Ü Ü̈ 
n

a = 4n + 5 B¨ÝWÜ, A¨ÜÃÜ 5®æà ±Ü¨ÜÊÜâ 

 (A) 20 (B) 14 

 (C) 25 (D) 24 

 EñÜ¤ÃÜ :   (C)     25 
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 The nth term of an Arithmetic Progression is  
n

a = 4n + 5. Then its 5th term is 

 (A) 20 (B) 14 

 (C) 25 (D) 24 

 Ans. :  (C)     25 

2. 5 2x  = 2 ( 2x + 3 ) ÊÜWÜìÓÜËáàPÜÃÜ|ÊÜ®Üá° B¨ÜÍÜìÃÜã±Ü¨ÜÈÉ ŸÃæ¨ÝWÜ, ¨æãÃÜPÜáÊÜ Ô§ÃÝíPÜ 

 (A) 5 (B) 6 

 (C) 4 (D) – 6 

 EñÜ¤ÃÜ :   (D)     – 6 

 When the quadratic equation  5 2x  = 2 ( 2x + 3 ) is expressed in the standard form, 

the constant term obtained is 

 (A) 5 (B) 6 

 (C) 4 (D) – 6 

 Ans. :  (D)     – 6 

3. x – 2y = 0  ÊÜáñÜá¤  3x + 4y – 20 = 0 ÓÜËáàPÜÃÜ|WÜÙÜá 

 (A) ±ÜÃÜÓÜ³ÃÜ dæà©ÓÜáñÜ¤Êæ 

 (B) IPÜÂWæãÙÜáÛñÜ¤Êæ 

 (C) ÓÜÊÜÞíñÜÃÜÊÝXÃÜáñÜ¤Êæ 

 (D) ±ÜÃÜÓÜ³ÃÜ ÆíŸÊÝXÃÜáñÜ¤Êæ 

 EñÜ¤ÃÜ :   (A)     ±ÜÃÜÓÜ³ÃÜ dæà©ÓÜáñÜ¤Êæ 

 x – 2y = 0 and  3x + 4y – 20 = 0 are 

 (A) Intersecting lines 

 (B) Coincident lines 

 (C) Parallel lines 

 (D) Perpendicular lines 

 Ans. :  (A)     Intersecting lines 



 

 

4. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜ ®Üûæ¿áÈÉ®Ü ÃæàTÝñÜ¾PÜ ÓÜËáàPÜÃÜ|WÜÙÜ hæãàwWÜÙÜá

 (A) x + y = 1  ÊÜáñÜá¤  2x –

 (C) 2x – y = 2  ÊÜáñÜá¤  4x 

 EñÜ¤ÃÜ :   (C)     2x – y = 2  

 The pair of equations of lines as shown in the graph are

 (A) x + y = 1  and  2x – y

 (C) 2x – y = 2  and  4x –

 Ans. :  (C)     2x – y = 2  and  4
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ñæãàÄÔÃÜáÊÜ ®Üûæ¿áÈÉ®Ü ÃæàTÝñÜ¾PÜ ÓÜËáàPÜÃÜ|WÜÙÜ hæãàwWÜÙÜá 

 

– y = 1 (B) 2x + y = 2  ÊÜáñÜá¤  x

 – y = 4 (D) y – x = 0  ÊÜáñÜá¤  x –

= 2  ÊÜáñÜá¤  4x – y = 4 

The pair of equations of lines as shown in the graph are 

 

y = 1 (B) 2x + y = 2  and  x + 

– y = 4 (D) y – x = 0  and  x – 

= 2  and  4x – y = 4 
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x + y = 2 

– y = 1 

+ y = 2 

 y = 1 
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5. 0
111

=++ cybxa  ÊÜáñÜá¤  0
222

=++ cybxa  ÃæàTÝñÜ¾PÜ hæãàw ÃæàTæWÜÙÜá ÓÜÊÜÞíñÜÃÜÊÝ¨ÜÃæ 

AÊÜâWÜÙÜ ÓÜÖÜWÜá|WÜÙÜ ÓÜÄ¿Þ¨Ü ÓÜíŸí«ÜÊÜâ 

 (A) 
2

1

2

1

2

1

c

c

b

b

a

a
≠=  (B) 

2

1

2

1

2

1

c

c

b

b

a

a
==  

 (C) 
2

1

2

1

b

b

a

a
≠  (D) 

2

1

2

1

a

b

b

a
=  

 EñÜ¤ÃÜ :   (A)     
2

1

2

1

2

1

c

c

b

b

a

a
≠=  

 If the pair of linear equations in two variables  0
111

=++ cybxa  and  

0
222

=++ cybxa  are parallel lines then the correct relation of their coefficients is 

 (A) 
2

1

2

1

2

1

c

c

b

b

a

a
≠=  (B) 

2

1

2

1

2

1

c

c

b

b

a

a
==  

 (C) 
2

1

2

1

b

b

a

a
≠  (D) 

2

1

2

1

a

b

b

a
=  

 Ans. :  (A)     
2

1

2

1

2

1

c

c

b

b

a

a
≠=  

6. 2x + 3y + 7 = 0  ÊÜáñÜá¤  ax + by + 14 = 0 ÃæàTæWÜÙÜ hæãàw¿áá ±ÜÃÜÓÜ³ÃÜ IPÜÂWæãÙÜáÛÊÜ ÃæàTæWÜÙÝ Ü̈Ãæ, 

‘a’ ÊÜáñÜá¤ ‘b’ ¸æÇæWÜÙÜá PÜÅÊÜáÊÝX 

 (A) 2 ÊÜáñÜá¤ 3 (B) 3 ÊÜáñÜá¤ 2 

 (C) 4 ÊÜáñÜá¤ 6 (D) 1 ÊÜáñÜá¤ 2 

 EñÜ¤ÃÜ :   (C)     4 ÊÜáñÜá¤ 6 

 If the pair of lines 2x + 3y + 7 = 0  and  ax + by + 14 = 0 are coincident lines then the 

values of ‘a’ and ‘b’ are respectively equal to  

 (A) 2 and 3 (B) 3 and 2 

 (C) 4 and 6 (D) 1 and 2 

 Ans. :  (C)     4 and 6 

7. D PæÙÜX®ÜÊÜâWÜÙÜÈÉ ¿ÞÊÜâ¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿ÞX¨æ ? 

 (A) 1,  – 1,  – 2,  .......... (B) 1,  5,  9,  .............. 

 (C) 2,  – 2,  2,  – 2,  ............ (D) 1,  2,  4,  8,  ..........  

 EñÜ¤ÃÜ :   (B)     1,  5,  9,  .............. 
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 Which of the following is an Arithmetic Progression ? 

 (A) 1,  – 1,  – 2,  .......... (B) 1,  5,  9,  .............. 

 (C) 2,  – 2,  2,  – 2,  ............ (D) 1,  2,  4,  8,  ..........  

 Ans. :  (B)     1,  5,  9,  .............. 

8. – 3,  – 1,  1,  3,  ....... ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿á 11®æà ±Ü̈ ÜÊÜâ  

 (A) 23 (B) – 23 

 (C) – 17 (D) 17 

 EñÜ¤ÃÜ :   (D)     17 

 The 11th term of the Arithmetic Progression  – 3,  – 1,  1,  3,  ....... is 

 (A) 23 (B) – 23 

 (C) – 17 (D) 17 

 Ans. :  (D)     17 

9. Jí¨Üá ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿á Êæã¨ÜÆ 10 ±Ü¨ÜWÜÙÜ ÊæãñÜ¤ÊÜâ 155 BX¨æ ÊÜáñÜá¤ A¨æà ÍæÅà{¿á Êæã¨ÜÆ 9 

±Ü¨ÜWÜÙÜ ÊæãñÜ¤ÊÜâ 126 B¨ÝWÜ ÍæÅà{¿á 10®æà ±Ü Ü̈ÊÜâ 

 (A) 27 (B) 126 

 (C) 29 (D) 25 

 EñÜ¤ÃÜ :  (C) 29 

 The sum of the first 10 terms of an Arithmetic Progression is 155 and the sum of the 

first 9 terms of the same progression is 126 then the 10th term of the progression is 

 (A) 27 (B) 126 

 (C) 29 (D) 25 

 Ans. : (C) 29 
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10. 2 2x  + ax + 6  = 0  ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü Jí Ü̈á ÊÜáãÆÊÜâ  2 B¨ÝWÜ, ‘a’ ¿á æ̧Çæ  

 (A) 7 (B) 
2

7
 

 (C) – 7 (D) 
2

7
−  

 EñÜ¤ÃÜ :   (C)     – 7 

 If one root of the equation  2 2x  + ax + 6  = 0  is 2, then the value of ‘a’ is  

 (A) 7 (B) 
2

7
 

 (C) – 7 (D) 
2

7
−  

 Ans. :  (C)     – 7 

11. 02 =++ rqxpx  ÊÜWÜì ÓÜËáàPÜÃÜ|¨Ü Íæãà«ÜPÜÊÜâ 

 (A) prq 42 −  (B)  prq 42 +  

 (C) prp 42 −  (D)  qrp 42 +  

 EñÜ¤ÃÜ :  (A) prq 42 −  

 The discriminant of the Quadratic equation 02 =++ rqxpx  is 

 (A) prq 42 −  (B)  prq 42 +  

 (C) prp 42 −  (D)  qrp 42 +  

 Ans. : (A) prq 42 −  

12. 4,  x,  10  ÓÜÊÜÞíñÜÃÜ ÍæÅà{¿áÈÉ¨ÜªÃæ "x' ®Ü ¸æÇæ¿áá 

 (A) 14 (B) – 6 

 (C) – 7 (D) 7 

 EñÜ¤ÃÜ : (D) 7 

 If  4,  x,  10  are in Arithmetic Progression the value of x is 

 (A) 14 (B) – 6 

 (C) – 7 (D) 7 

 Ans. : (D) 7 
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13. 2ax  + bx + c = 0 ÊÜWÜìÓÜËáàPÜÃÜ|¨Ü ÊÜáãÆWÜÙÜá 

 (A) x  =  
a

acbb

2

42 −±−

 

 (B) x  =  
a

acbb

2

42 +±−

 

 (C) x  =  
a

cbb

2

42 −−−

 

 (D) x  =  
a

acbb

2

42 −+−

 

 EñÜ¤ÃÜ :   (A)     x  =  
a

acbb

2

42 −±−
 

 The roots of the quadratic equation  2ax  + bx + c = 0 are 

 (A) x  =  
a

acbb

2

42 −±−

 

 (B) x  =  
a

acbb

2

42 +±−

 

 (C) x  =  
a

cbb

2

42 −−−

 

 (D) x  =  
a

acbb

2

42 −+−

 

 Ans. :  (A)     x  =  
a

acbb

2

42 −±−
 

14. ( x – 3 ) ( x + 2 ) = 0 ÓÜËáàPÜÃÜ|¨Ü ÊÜáãÆWÜÙÜá 

 (A) – 3,  2 (B) 3,  – 2 

 (C) – 3,  – 2 (D) 3,  2 

 EñÜ¤ÃÜ :  (B) 3,  – 2 
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 The roots of the equation  ( x – 3 ) ( x + 2 ) = 0 are 

 (A) – 3,  2 (B) 3,  – 2 

 (C) – 3,  – 2 (D) 3,  2 

 Ans. : (B) 3,  – 2 

15. GÃÜvÜá A®ÜáPÜÅÊÜá ±ÜäOÝìíPÜWÜÙÜ ÊæãñÜ¤ÊÜâ 27 B¨ÜÃæ, B ±ÜäOÝìíPÜWÜÙÜá 

 (A) 7 ÊÜáñÜá¤ 20 (B) 13 ÊÜáñÜá¤ 14 

 (C) 1 ÊÜáñÜá¤ 26 (D) – 13 ÊÜáñÜá¤ – 14 

 EñÜ¤ÃÜ :  (B) 13 ÊÜáñÜá¤ 14 

 If the sum of two consecutive integers is 27, then the integers are 

 (A) 7 and 20 (B) 13 and 14 

 (C) 1 and 26 (D) – 13 and – 14 

 Ans. : (B) 13 and 14 

16. PæãqrÃÜáÊÜ bñÜÅ¨ÜÈÉ  sin θ ¨Ü æ̧Çæ¿áá 

 

 (A) 
2

1
 (B) 

2

3
 

 (C) 3  (D) 
3

2
 

 EñÜ¤ÃÜ :   (A)     
2

1
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 In the figure, the value of sin θ is 

 

 (A) 
2

1
 (B) 

2

3
 

 (C) 3  (D) 
3

2
 

 Ans. :  (A)     
2

1
 

17. ( sin 30° + cos 60° – tan 45° ) ¿á ¸æÇæ¿áá 

 (A) 1 (B) – 1 

 (C) 2 (D) 0 

 EñÜ¤ÃÜ :   (D)     0 

 The value of  ( sin 30° + cos 60° – tan 45° ) is 

 (A) 1 (B) – 1 

 (C) 2 (D) 0 

 Ans. :  (D)     0 

18. 3 + sec
2 θ  C¨ÜPæR ÓÜÊÜá®Ý Ü̈á¨Üá 

 (A) 4 + tan
2 θ   (B) 4 + cot

2 θ   

 (C) 2 + cot
2 θ   (D) 3 + cot

2 θ  

 EñÜ¤ÃÜ : (A) 4 + tan
2 θ   

 3 + sec
2 θ  is equal to 

 (A) 4 + tan
2 θ   (B) 4 + cot

2 θ   

 (C) 2 + cot
2 θ   (D) 3 + cot

2 θ  

 Ans. : (A) 4 + tan
2 θ   
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19. Wæãà±ÜâÃÜ¨Ü ±Ý¨Ü©í¨Ü 30 Ëáà. ¨ÜãÃÜ Ü̈ ®æÆ Ü̈ ÊæáàÈ®Ü Jí¨Üá ¹í¨ÜáË¯í¨Ü Wæãà±ÜâÃÜ¨Ü ñÜá©¿á®Üá° 

ËàüÔ¨ÝWÜ EípÝWÜáÊÜ E®Ü°ñÜ Pæãà®ÜÊÜâ 30° B¨ÜÃæ, B Wæãà±ÜâÃÜ Ü̈ GñÜ¤ÃÜÊÜâ  

 (A) 10 m (B) 30 m 

 (C) 310  m (D) 30 3  m 

 EñÜ¤ÃÜ :   (C)     310  m 

 The angle of elevation of the top of a tower from a point on the ground, which is 30 

metres away from the foot of the tower, is 30°. Then the height of the tower is 

 (A) 10 m (B) 30 m 

 (C) 310  m (D) 30 3  m 

 Ans. :  (C)     310  m 

20. ( sin θ × cosec θ ) ¨Ü ¸æÇæ¿áá 

 (A) 2 (B) 1 

 (C) –  
2

1
 (D) 

2

3
 

 EñÜ¤ÃÜ :  (B) 1 

 The value of ( sin θ × cosec θ ) is 

 (A) 2 (B) 1 

 (C) –  
2

1
 (D) 

2

3
 

 Ans. :  (B) 1 

21. A ( 
11

, yx ) ÊÜáñÜá¤ B ( 
22

, yx ) ¹í¨ÜáWÜÙÜ®Üá° ÓæàÄÓÜáÊÜ ÃæàTÝSívÜ Ü̈ ÊÜá«ÜÂ¹í¨ÜáÊÜ®Üá° 

PÜívÜá×w¿ááÊÜ ÓÜãñÜÅ 

 (A) 












 ++

2
,

2

1212
yyxx

 (B) 












 −−

2
,

2

1212
yyxx

 

 (C) 












 ++

3
,

3

1122
yxyx

 (D) 












 ++

3
,

3

1212
yyxx

 

 EñÜ¤ÃÜ :   (A)     












 ++

2
,

2

1212
yyxx
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 The formula to find the mid-point of the line segment joining the points A ( 
11

, yx ) 

and B ( 
22

, yx )  is 

 (A) 












 ++

2
,

2

1212
yyxx

 (B) 












 −−

2
,

2

1212
yyxx

 

 (C) 












 ++

3
,

3

1122
yxyx

 (D) 












 ++

3
,

3

1212
yyxx

 

 Ans. :  (A)     












 ++

2
,

2

1212
yyxx

 

22. ),(
11

yx  ÊÜáñÜá¤ ),(
22

yx  ¹í¨ÜáWÜÚXÃÜáÊÜ ¨ÜãÃÜÊÜâ  

 (A) 2
21

2
21

)()( yyxx −+−
 

 (B) 2
12

2
12

)()( yyxx −−−  

 (C) 2
21

2
21

)()( yyxx +−+
 

 (D) 2
12

2
12

)()( yyxx +++  

 EñÜ¤ÃÜ : (A) 2
21

2
21

)()( yyxx −+−  

 The distance between the points  ),(
11

yx  and  ),(
22

yx  is 

 (A) 2
21

2
21

)()( yyxx −+−
 

 (B) 2
12

2
12

)()( yyxx −−−  

 (C) 2
21

2
21

)()( yyxx +−+
 

 (D) 2
12

2
12

)()( yyxx +++  

 Ans. : (A) 2
21

2
21

)()( yyxx −+−  
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23. ¨ÜñÜ¤ ±ÝÅ±Ý¤íPÜWÜÙÜÈÉ A£ ÖæaÜác ÓÜÆ ±Üâ®ÜÃÝÊÜ£ìÓÜáÊÜ ÓÜíTæÂ¿á ÊÜåèÆÂÊÜâ ±ÝÅ±Ý¤íPÜWÜÙÜ 

 (A) ÓÜÃÝÓÜÄ¿ÞX¨æ (B) ŸÖÜáÆPÜ BX¨æ 

 (C) ÊÜÞ«ÝÂíPÜÊÝX æ̈ (D) ÊÝÂ²¤ BX¨æ 

 EñÜ¤ÃÜ :  (B) ŸÖÜáÆPÜ BX¨æ 

 The value among the observations of most repeated scores of the data is 

 (A) the mean (B) the mode 

 (C) the median (D) the range 

 Ans. : (B) the mode 

24. D PæÙÜX®Ü ¨ÜñÝ¤íÍÜWÜÙÜ "ÓÜÃÝÓÜÄ' ¿áá  

AíPÜWÜÙÜá 1 3 5 7 

 (A) 16 (B) 5 

 (C) 1.6 (D) 4 

 EñÜ¤ÃÜ :  (D) 4 

 The Mean of the following scores is 

Marks 1 3 5 7 

 (A) 16 (B) 5 

 (C) 1.6 (D) 4 

 Ans. : (D) 4 

25. PæÆÊÜâ Ü̈ñÝ¤íÍÜWÜÙÜ "ÓÜÃÝÓÜÄ' ÊÜáñÜá¤ "ŸÖÜáÆPÜ' ÖÝWÜã ÊÜá«ÝÂíPÜWÜÙÜ ÓÜíŸí«ÜÊÜâ 

 (A) 3 ÊÜá«ÝÂíPÜ = 2 ÓÜÃÝÓÜÄ + ŸÖÜáÆPÜ (B) 3 ÓÜÃÝÓÜÄ = 2 ÊÜá«ÝÂíPÜ + ŸÖÜáÆPÜ 

 (C) ÓÜÃÝÓÜÄ = 3 ÊÜá«ÝÂíPÜ + ŸÖÜáÆPÜ (D) ŸÖÜáÆPÜ = 3 ÓÜÃÝÓÜÄ + 2 ÊÜá«ÝÂíPÜ 

 EñÜ¤ÃÜ :  (A) 3 ÊÜá«ÝÂíPÜ = 2 ÓÜÃÝÓÜÄ + ŸÖÜáÆPÜ 

 The relation among the Mean, Mode and Median is 

 (A) 3 Median = 2 Mean + Mode (B) 3 Mean = 2 Median + Mode 

 (C) Mean = 3 Median + Mode (D) Mode = 3 Mean + 2 Median 

 Ans. : (A) 3 Median = 2 Mean + Mode 
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26. Êæáà|©í¨Ü ÊÜÞvÜÆ³or Jí¨Üá ÔÈívÜÃÜ®Üá° PÜÃÜXÔ A¨Ü®Üá° ÓÜí±Üä|ìÊÝX Jí¨Üá WæãàÙÜ¨Ü BPÝÃÜPæR 

Ÿ¨ÜÇÝÀáÔ¨ÝWÜ æ̈ãÃÜPÜáÊÜ WæãàÙÜ Ü̈ Z®Ü¶ÜÆÊÜâ  

 (A) ÔÈívÜÃ…®Ü Z®Ü¶ÜÆ¨Ü GÃÜvÜÃÜÐÝrWÜáñÜ¤ æ̈ 

 (B) ÔÈívÜÃ…®Ü Z®Ü¶ÜÆ¨Ü A«Üì¨ÜÐÝrWÜáñÜ¤¨æ 

 (C) ÔÈívÜÃ…®Ü Z®Ü¶ÜÆ¨Ü ÊÜáãÃÜÃÜÐÝrWÜáñÜ¤ æ̈ 

 (D) ÔÈívÜÃ…®Ü Z®Ü¶ÜÆ¨ÜÐærà CÃÜáñÜ¤¨æ 

 EñÜ¤ÃÜ :   (D)     ÔÈívÜÃ…®Ü Z®Ü¶ÜÆ¨ÜÐærà CÃÜáñÜ¤¨æ 

 A cylinder made of wax is melted and recast completely into a sphere. Then the 

volume of the sphere is  

 (A) two times the volume of the cylinder 

 (B) half the volume of the cylinder 

 (C) 3 times the volume of the cylinder 

 (D) equal to the volume of the cylinder  

 Ans. :  (D)     equal to the volume of the cylinder 

27. ÊÜWÝìíñÜÃÜ ÊÜá«ÜÂ¹í Ü̈á (AíPÜ)ÊÜ®Üá° PÜívÜá×w¿ááÊÜ ÓÜãñÜÅ 

 (A) 

ÊæáàÈ¾£ – PæÙÜËá£
2

 (B) 

ÊæáàÈ¾£ × PæÙÜËá£
3

 

 (C) 

ÊæáàÈ¾£ + PæÙÜËá£
2

 (D) 

ÊæáàÈ¾£ + PæÙÜËá£
3

 

 EñÜ¤ÃÜ :   (C)     

ÊæáàÈ¾£ + PæÙÜËá£
2

 

 The formula to find the mid-point of the class interval is 

 (A) 
2

limit lower  limit Upper −
 (B) 

3

limit lower    limit Upper ×

 

 (C) 
2

limit lower    limit Upper +
 (D) 

3

limit lower    limit Upper +

 

 Ans. :  (C)     
2

limit lower    limit Upper +
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28. ∆ ABC ¿áÈÉ  XY || BC  B¨ÝWÜ 

 

 (A) 
AY

AC

AB

AX
=

 

 (B) 
CY

AY

BX

AX
=

 

 (C) 
AY

XY

BX

AX
=

 

 (D) 
AY

AC

BX

AB
=

 

 EñÜ¤ÃÜ :   (B)     
CY

AY

BX

AX
=  

 In the ∆ ABC,  XY || BC  then 

 

 (A) 
AY

AC

AB

AX
=

 

 (B) 
CY

AY

BX

AX
=

 

 (C) 
AY

XY

BX

AX
=

 

 (D) 
AY

AC

BX

AB
=

 

 Ans. :  (B)     
CY

AY

BX

AX
=  
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29. PæãqrÃÜáÊÜ GÃÜvÜá £Å»ÜágWÜÙÜ®Üá° WÜÊÜá¯Ô, ®ÜíñÜÃÜ DF ®Ü AÙÜñæ¿á®Üá° WÜáÃÜá£Ô 

 

 (A) 26  cm (B) 23  cm 

 (C) 4.2 cm (D) 8.4 cm 

 EñÜ¤ÃÜ :   (A)     26  cm 

 Observe the given two triangles and then identify the length of DF in the following : 

 

 (A) 26  cm (B) 23  cm 

 (C) 4.2 cm (D) 8.4 cm 

 Ans. :  (A)     26  cm 

30. ∆ ABC ~ ∆ PQR, ∆ ABC ËÔ¤à|ì = 64 cm
2

 ÊÜáñÜá¤ ∆ PQR ËÔ¤à|ì = 100 cm
2

 BX¨æ. 

AB = 8 cm B¨ÝWÜ PQ ®Ü E¨ÜªÊÜâ 

 (A) 12 cm (B) 15 cm 

 (C) 10 cm (D) 8 cm 

 EñÜ¤ÃÜ :   (C)     10 cm 

 ∆ ABC ~ ∆ PQR. Area of ∆ ABC = 64 cm
2

and the area of ∆ PQR = 100 cm
2

.  

 If  AB = 8 cm then the length of PQ is 

 (A) 12 cm (B) 15 cm 

 (C) 10 cm (D) 8 cm 

 Ans. :  (C)     10 cm 
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31. ∆ ABC ¿áÈÉ,  B  = 90°  ÊÜáñÜá¤  BD ⊥ AC,  AB = 6 cm,  BC = 8 cm B¨ÝWÜ, CD ¿á E¨ÜªÊÜâ 

 

 (A) 10 cm 

 (B) 6.4 cm 

 (C) 4.8 cm 

 (D) 3.6 cm 

 EñÜ¤ÃÜ :  (B) 6.4 cm 

 In the ∆ ABC,  B  = 90°  and  BD ⊥ AC.  If  AB = 6 cm,  BC = 8 cm then the length of 

CD  is 

 

 (A) 10 cm 

 (B) 6.4 cm 

 (C) 4.8 cm 

 (D) 3.6 cm 

 Ans. :  (B) 6.4 cm 
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32. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜíñæ ‘O’ Pæàí¨ÜÅÊÜâÙÜÛ ÊÜêñÜ¤PæR A ¹í¨ÜáË®ÜÈÉ AT ÓÜ³ÍÜìPÜÊÜ®Üá° GÙæ¿áÇÝX¨æ.  ∠OTA = 

30° ÊÜáñÜá¤ OT = 4 cm B¨ÜÃæ, AT ¿á E¨Üª 

 

 (A) 4 cm (B) 2 cm 

 (C) 2 3  cm (D) 4 3  cm 

 EñÜ¤ÃÜ :   (C)     2 3  cm 

 In the given figure AT is a tangent drawn at the point A to the circle with centre O 

such that OT = 4 cm. If  ∠OTA = 30° then AT is 

 

 (A) 4 cm (B) 2 cm 

 (C) 2 3  cm (D) 4 3  cm 

 Ans. :  (C)     2 3  cm 

33. bñÜÅ¨ÜÈÉ PA,  PBC   ÊÜáñÜá¤  CD WÜÙÜá ‘O’ Pæàí Ü̈ÅÊÜâÙÜÛ ÊÜêñÜ¤PæR GÙæ¨Ü ÓÜ³ÍÜìPÜWÜÙÝXÊæ.    PC = 8 cm ÊÜáñÜá¤ 

AP = 5 cm B¨ÝWÜ, CD ÓÜ³ÍÜìPÜ Ü̈ E¨ÜªÊÜâ 

 

 (A) 5 cm (B) 3 cm 

 (C) 8 cm (D) 13 cm 

 EñÜ¤ÃÜ :   (B)     3 cm 
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 In the given figure PA,  PBC   and  CD are the tangents to a circle with centre O.  

If PC = 8 cm and AP = 5 cm, the length of the tangent CD is  

 

 (A) 5 cm (B) 3 cm 

 (C) 8 cm (D) 13 cm 

 Ans. :  (B)     3 cm 

34. D PæÙÜX®Ü ÖæàÚPæWÜÙÜÈÉ "ñÜ±Üâ³ ÖæàÚPæ¿á®Üá°' WÜáÃÜá£Ô 

 (A) ÊÜêñÜ¤PæR GÙæ¨Ü ÓÜ³ÍÜìPÜÊÜâ ÊÜêñÜ¤ÊÜ®Üá° Jí¨æà ¹í¨ÜáË®ÜÈÉ ÓÜ³ÎìÓÜáñÜ¤¨æ 

 (B) ÊÜêñÜ¤PæR Jí¨Üá ÓÜÃÜÙÜ ÃæàTæ¿á®Üá° GÙæ¨ÝWÜ A¨Üá ¿ÞÊÝWÜÆá ÊÜêñÜ¤¨Ü Jí æ̈à Jí¨Üá ¹í Ü̈áË¯í Ü̈ 

ÖÝ¨Üá ÖæãàWÜáñÜ¤ æ̈ 

 (C) ÊÜêñÜ¤PæR Jí¨Üá ÓÜÃÜÙÜ ÃæàTæ¿á®Üá° GÙæ¨ÝWÜ A¨Üá ÊÜêñÜ¤ÊÜ®Üá° ÓÜ³ÎìÓÜáÊÜ ¹í¨ÜáÊÜ®Üá° ÓÜ³ÍÜì¹í¨Üá Gí Ü̈á 

PÜÃæ¿ááñæ¤àÊæ  

 (D) ÓÜ³ÍÜì¹í¨ÜáË¯í¨Ü ÊÜêñÜ¤PæR GÙæ¨Ü £ÅgÂÊÜâ ÓÜ³ÍÜìÃæàTæWæ ÆíŸÊÝXÃÜáñÜ¤¨æ  

 EñÜ¤ÃÜ :   (B)     ÊÜêñÜ¤PæR Jí¨Üá ÓÜÃÜÙÜ ÃæàTæ¿á®Üá° GÙæ¨ÝWÜ A¨Üá ¿ÞÊÝWÜÆá ÊÜêñÜ¤¨Ü Jí¨æà Jí Ü̈á 

¹í¨ÜáË¯í Ü̈ ÖÝ¨Üá ÖæãàWÜáñÜ¤¨æ 

 The wrong statement in the following is 

 (A) a tangent to a circle touches the circle exactly at one point 

 (B) when a straight line is drawn to a circle it always passes through a point on the 

circle 

 (C) the point common to the circle and its tangent is called the point of contact 

 (D) the tangent drawn at any point to a circle is perpendicular to the radius drawn at 

the point of contact 

 Ans. :  (B)     when a straight line is drawn to a circle it always passes through a point 

on the circle 
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35. ¨ÜñÜ¤ ÊÜêñÜ¤PæR A¨ÜÃÜ ÖæãÃÜX®Ü ¹í¨Üá ‘T ’ Àáí Ü̈ GÃÜvÜá ÓÜ³ÍÜìPÜWÜÙÜ®Üá° ÃÜbÓÜáÊÝWÜ bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜ 

ÃÜaÜ®æ¿á ÖÜíñÜ Ü̈ ÊÜááí©®Ü ÖÜíñÜÊÜ®Üá° WÜáÃÜá£Ô  

 

 

(A)

  

 

(B)

  

 

(C)

  

 

(D)

  

 EñÜ¤ÃÜ :   (A)      
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 Which is the next step of construction while constructing a pair of tangents to a circle 

from an external point ‘T ’, given in the figure ? 

 

 

(A)

  

 

(B)

  

 

(C)

  

 

(D)

  

 Ans. :  (A)      
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36. Jí¨Üá WæãàÙÜ¨Ü ÊæáàÇæ¾„ ËÔ¤à|ì 616 cm
2

 BX¨æ. A¨æà WæãàÙÜ¨Ü £ÅgÂÊÜâ  

 (A) 49 cm (B) 14 cm 

 (C) 21 cm (D) 7 cm 

 EñÜ¤ÃÜ :   (D)     7 cm 

 The surface area of a sphere is 616 sq.cm. Then the radius of the same sphere is  

 (A) 49 cm (B) 14 cm 

 (C) 21 cm (D) 7 cm 

 Ans. :  (D)     7 cm 

37. PæãqrÃÜáÊÜ ÍÜíPÜáË®Ü Z®Ü¶ÜÆ PÜívÜá×w¿ááÊÜ ÓÜãñÜÅÊÜâ 

 

 (A) hr 2π  (B) πr ( r + l ) 

 (C) hr 2

3

1
π  (D) πr l  

 EñÜ¤ÃÜ :  (C) hr 2

3

1
π  

 The volume of a cone as shown in the figure is 

 

 (A) hr 2π  (B) πr ( r + l ) 

 (C) hr 2

3

1
π  (D) πr l  

 Ans. : (C) hr 2

3

1
π  
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38. GÃÜvÜá ±Ý¨ÜWÜÙÜÈÉ Jí¨Üá ±Ý¨Ü ñæÃæ¿áÆ³qrÃÜáÊÜ ®æàÃÜ ÔÈívÜÄ®Ü ±Ý¨Ü¨Ü £ÅgÂ r cm ÊÜáñÜá¤ A Ü̈ÃÜ GñÜ¤ÃÜ h 

cm B¨ÝWÜ ÔÈívÜÄ®Ü ±Üä|ì ÊæáàÇæ¾„ ËÔ¤à|ìÊÜ®Üá° PÜívÜá×w¿ááÊÜ ÓÜãñÜÅ 

 (A) ( π 2r  + 2πrh ) cm
2

  

 (B) 2πrh cm
2

 

 (C) hr 2

3

1
π  cm

3
 

 (D) ( π 2r  + h ) cm
2

 

 EñÜ¤ÃÜ :   (A)     ( π 2r  + 2πrh ) cm
2

 

 The formula to find the total surface area of a right circular based cylindrical vessel of 

base radius r cm and height h cm opened at one end is 

 (A) ( π 2r  + 2πrh ) cm
2

  (B) 2πrh cm
2

 

 (C) hr 2

3

1
π  cm

3
 (D) ( π 2r  + h ) cm

2
 

 Ans. :  (A)     ( π 2r  + 2πrh ) cm
2

 

39. bñÜÅ¨ÜÈÉ ñæãàÄÔÃÜáÊÜ ¹®Ü°PÜ ÍÜíPÜáË®Ü ÊÜPÜÅÊæáàÇæ¾„ ËÔ¤à|ì PÜívÜá×w¿ááÊÜ ÓÜãñÜÅÊÜâ 

 

 (A) )(
3

1
21

rrl +π  (B) )(
3

1
21

2
2

2
1

rrrrh ++π  

 (C) )(
21

rrl +π  (D) )(
21

rrl −π  

 EñÜ¤ÃÜ :  (C) )(
21

rrl +π  
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 To find the curved surface area of a frustum of a cone as shown in the figure the 

formula used is 

 

 (A) )(
3

1
21

rrl +π  (B) )(
3

1
21

2
2

2
1

rrrrh ++π  

 (C) )(
21

rrl +π  (D) )(
21

rrl −π  

 Ans. : (C) )(
21

rrl +π  

40. Jí¨Üá Z®Ü A«ÜìWæãàÙÜ¨Ü ±Üä|ì ÊæáàÇæ¾„ ËÔ¤à|ìÊÜâ 462 cm 2  BX¨æ ÊÜáñÜá¤ A Ü̈ÃÜ ÊÜPÜÅÊæáàÇæ¾„ 

ËÔ¤à|ìÊÜâ 308 cm 2  B¨ÝWÜ A«ÜìWæãàÙÜ¨Ü ±Ý Ü̈¨Ü ËÔ¤à|ìÊÜâ 

 (A) 308 cm
2

 (B) 231 cm
2

 

 (C) 154 cm 2  (D) 1078 cm 2  

 EñÜ¤ÃÜ :  (C) 154 cm 2  

 The total surface area of solid hemisphere is 462 cm2
. If the curved surface area of it 

is 308 cm2 , then the area of the base of the hemisphere is 

 (A) 308 cm
2

 (B) 231 cm
2

 

 (C) 154 cm 2  (D) 1078 cm 2  

 Ans. :  (C) 154 cm 2  

   

 


